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3. (a) Explain the traditional apprdach to the capital
structure. : :
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operating income of Rs.

5,00,000. It has 10% debentures of Rs. 20 lakh.
Cost of equity is 15%. Calculate the average cost
of capital and value of the firm as per net income
approach of capital structure. If the company
raises additional debt of Rs. 10 lakhs at the rate of
10%, what happens to the value of the firm?
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(a) “New issue of capital is costl
earnings.” Do you agree? Explain.
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The earnings per share of ABC
face value of its equity share is Rs. 100. Its rate of

Teturn on investment is 20%. Capitalizatic?n. rate
for its risk class is 15%. Using Walter’s dividend

model, find out:

Ltd. is Rs. 10. The

(i) The optimum payout ratio
(i) The market price per
ratio is zero '

(ili) The market price at 2 payout of
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